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Ama | DERI| BEgR | EANEZ eEE
1 [102] 3 =05,
2 |102| 6 HOE
3 |103| 10 HO0B
4 [103] 17 20/
5 |104] 29 2joxZ
6 |106| 5 PO
7 |106] 11 BRORS
8 |110]| 13 RO
9 |111] 3 FROFY
10 [111] 12 B0
11 [112] 8 FROIF
12 | 112] 16 ZHON=)
13 [113] 2 RO
14 [113] 8 BROI
15 [114] 17 RO
16 | 116 1 Foiy
17 116 23 iOy/N
18 | 202| 27 BrO=
19 | 202 9 BROWT
20 | 203| 15 =0
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21 | 204| 6 E{0)s]
22 |206| 14 ZROLF
23 1207 19 50k
24 |207| 28 A ofa
25 |208| 5 fRO=
26 | 208| 10 RO
27 |110| 1 HOR
28 | 212 14 BROTT
29 | 212] 32 ZEOMBE
30 |214| 9 MOZ=
31 |214] 23 o4
32 [216] 7 MORR




